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(No. 1]
7 She will check the size of the T-shirts.
4 She will buy some kinds of T-shirts.
2 She will talk about large animals.
T

She will show some T-shirts to the man.

(No.2)
7  Five.
14 Six.
7 Seven.
T Twelve.
(No. 3 )

7 Because he cannot go to the shop.

4 Because he used another shop’s card.

7 Because he could not use his card in the shop.
T

Because he cannot find his card after shopping there.

(No. 4]
7 He was taking care of some plants.
4 He was drinking water in the garden.
™7 He was giving flowers to his mother.
T

He was looking for his mother.

(No.5)

7 Because she would meet her father at a shop.
4 Because she could make ice cream at home.
7 Because she wanted to eat ice cream.
T

Because she wanted to go home early.
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(No.1)
7 Shoes are chosen as a gift.
4 He’s in the shop.
™) The shop near the station sold them.
I They’re Jane’s.
(No.2)
7 Because it was expensive.
4 TI've already bought some food and drinks.
7 It was last year.
I Because he wants to know the reason.
(No. 3)
7 After the show.
4 Twenty minutes ago.
™) For one hour.
I At three thirty.
(No. 4 )
7 Two cars will take us here.
4 We will need two more fish.
™) Two or three will be enough.
I We have to make it twice.
(No.5)
7 Yes, I'll go to a zoo with my family.
4 No, my brother and I will go to a library.
7 Yes, I get up at seven every morning.
I No, you didn’t know the plan.
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When plants try to leave their *offspring, it is important to spread their seeds *far away
and to various places. If a plant lives only in one area, the species will face danger. They may

not be able to continue to live if the environment of the place greatly changes. For plants,

*increasing their living area means | (1) | . However, there is a problem:

plants cannot move or carry their seeds to different places alone. So they often depend on
the power of other things when they try to spread their seeds. Some of them use the wind,
and others use the water power of a river. Another common and effective way for plants to
spread their seeds (2) the use of animals. Let’s see four interesting examples of
plants’ use of animals as a *carrier of their seeds.

Probably, you have had an experience like this: some seeds with *burs were *attached to

your clothes and you could not remove them easily after you went to the *grassy field. You may

not feel happy about these seeds, but this is exactly their *strategy. | (3)-7

Plants like *cocklebur can spread their seeds thanks to their burs. They are attached to
humans’ clothes or animals’ bodies and carried to places far away from the original area. In
many cases, these kinds of plants are not very tall, so humans’ legs or animals’ bodies easily
touch and catch the seeds while they are walking in the grassy field.

Some plants spread their seeds by giving meals to animals. These kinds of plants often
depend on birds. Many birds eat the fruit but its seed is not *digested in their bodies. So it
falls on the ground with their *droppings. There the seed *sprouts and grows. Birds can fly
and move to different places, so they are useful carriers of seeds. Like cherries, [ this /

@)
which / strategy / many plants / use ] have red, yellow, or purple fruits because these colors

can easily attract the eyes of birds.
Ants and *violets also depend on each other in a similar way. Violets can spread their

seeds by their own power, but the power is so weak that the seeds do not go far away.

| (3)- 4 | However, ants carry the seeds to a little larger area. A small white

5)
ants’ favorite food. Ants bring the seeds into their *nests, and after they eat only their

part ( call an *elaiosome is attached to each seed of a violet, and this is actually

favorite part there, violets’ seeds without elaiosomes are not necessary for them. So ants
carry the seeds outside and leave them near their nests. Then, those seeds often sprout
there. Violets can (6) the living area larger by giving ants meals.

The last example is *acorns’ strategy to use squirrels. A squirrel is a small animal with a

big *tail. | 8- | Before cold winter, squirrels not only eat many acorns

but also try to hide acorns in various places to save their food. However, squirrels sometimes



forget the places of those acorns, and in spring, these acorns sprout there. Though the acorns
which have just fallen on the ground under the tree can sprout, they often stay near the
original place. Acorns are a little (7) , so wind cannot move them far away. Acorns

are brought to various places and grow in a larger area because squirrels do such a thing
®

before winter.

You may think that plants are weak. They are silent and usually do not try to hurt others.

(3)-T However, they still survive and can live in various places or in larger

areas. Plants’ effective use of animals as carriers of their seeds shows you quite a different

side of plants. In fact, they are full of power and wisdom to save their offspring and survive as

a species.
GE)
offspring % far away = < BfdL7o P IC increase T
carrier EHOE bur EFETFDIE attach fIE3I¥ %
grassy field Hiih strategy kMg cocklebur A€ 3
digest H{LT % droppings %A sprout ¥ T 2%
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(1) | 1) | 1213 ED &I REEADIA D DDNEY) D, B S 0,
7 facing more danger as a species
4 having more chances to survive as a species
) making new kinds of seeds
I finding other ways to collect their seeds
(2] (2) X ED X % 1B AZ DY), B S0,
7 is
4 are
7 do
I does
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They cannot run away from the animals which try to eat them.

(41 4) . [ this / which / strategy / many plants / use ] have red, yellow, or purple fruits
4
Z, XRIcES o [ ] WOGERZ R Z 1548, T~dA0HT
2FB L AFBBICK 2GS TE A LRI W,

7 this 4 which r) strategy

I many plants Z  use

(#5) [ call |0 LGHEYIALDEROES L,

calls
called

calling

H 3 A N

to call

(M6 (6) I ED X I 7% 1 EEDBA B DD, BRI 0,

take
make

have

H 3 A N

give

(R 7) (7) W ED X I 7% 1 EEDBA DD, BRI 0,

old
hard

small

H & A N

heavy



(5 8) ( )squirrels do such a thing 23 F A & L Gt 2 b D 2N 2 I\,
8

Squirrels try to hide some trees of acorns.
Squirrels eat a lot of acorns to be healthy.

Squirrels keep acorns in different places.

H 3 X\ Y

Squirrels put various acorns in their nests.

(9] ROEMIINT2EZLELT, KXDHFELEA>TVLHDZENL I,
How are violets’ seeds spread?

They are carried by elaiosomes and sprout in ants’ nests.
They are attached to ants’ bodies and carried to other places.

They are left near ants’ nests after ants have eaten only elaiosomes.

H O A N

They are eaten by ants and spread to other places with their droppings.

(FH10) AXOHELLE>TOVEHDERENE I,

We cannot see the plants like cocklebur because of their burs.
Birds often spread the seeds of plants which have fruit to eat.

Acorns cannot sprout and grow without the help of squirrels.

H & A N

Plants are actually strong because they can carry animals.
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Yoshiki was a high school student on an international course. He was born in America
and came to Japan last year. His high school had the international course and had many
English volunteer programs for some elementary schools. One day the teacher of his course,
Ms. Brown, told him to teach in one of the schools. This year he was sent there to teach
*arithmetic in English because some boys and girls (1) came to Japan some months
before needed someone to teach in English.

In the program, Yoshiki taught some boys and girls *division. They were nine years old.
“Did you finish your homework?” Yoshiki asked them. Almost all of them said, “Yes!” But one

boy, John, shouted, “I forgot! No one reminded me of it at home.” “John, you shouldn’t

depend on other people!” Yoshiki said. 2-7 | Yoshiki took time and

taught them well.
After the lesson, Yoshiki went to a park and sat down on a bench. Just then a boy was

”

running to him and shouted, “Hey, Yoshiki.” He was David, a classmate in his high school.
“Are you practicing for the *race?” Yoshiki asked. David was a member of the track and field
team. “Yes, I'll run in the road relay.” “Road relay...the high school Zkzden?” Yoshiki asked.
“That’s right. T'll run in the fifth *section.” Then Yoshiki turned and saw another boy who was
running to them. He was Tomohisa, their classmate. He was also in the track and field team.
“Will you run in the relay, too?” Yoshiki asked. “Yes, in the fourth section. I'll *hand the
*cloth sash to David. Bye, Yoshiki,” Tomohisa said and they started running again. They ran
out of the park. Then Yoshiki turned and found John there. John looked at Yoshiki and said,
“Do you know my brother?” “Your brother? Who'’s your brother?” Yoshiki asked. “It’s David,”

he answered. “Oh, I didn’t know that,” Yoshiki said. 2)-4 | “David is

practicing hard now. You should try hard, too.” “Yes, but division is | (3)

running,” John said. Yoshiki said, “If you can do it, you'll know the speed of your brother’s
running.” “How?” John asked. “*Divide the *distance by the time. I need to teach you next
time,” Yoshiki said.

A week later Yoshiki entered the classroom to teach John and the others again. But John
was already writing something in his notebook. The names of David, Tomohisa, and John, and
their speeds were w in it. “Did you divide the distance by the time?” Yoshiki said
and checked the answers. They were right. John said, “Now I know our speeds. David is the
fastest. I divided the numbers.” Yoshiki wanted to find other questions of division for John.

“David and Tomohisa are running faster each time. You should divide the distance by their

time every day.” 2)-7 | John said, “OK! After this lesson I'll do it.”




In the next lesson John finished answering the questions and took out his notebook. Now
he did not need much time to *calculate. The results of his divisions showed that David and
Tomohisa really ran faster than before. After the lesson, Yoshiki and John went to the park
together and saw them. “John, will you come and see us on the day of the relay?” they asked.
“Yes! T'll go and check your time!” John showed them his notebook. “I'll calculate your
speeds. Ilike it now.”

On the day of the relay, John and Yoshiki went to the end of the fourth section. Ms.
Brown was already there to help David’s team and talked with him. She said to Yoshiki, “I'll go
to the end of the fifth section. I'll send you an email to (5) you David’s time,” and

left the place. David was ready to run and was waiting for Tomohisa. “Will you check my

time?” David asked. | 2-x | John said, “Yes, it’ll be your best.” Then David

shouted, “Tomohisa is coming!” Tomohisa was running after the first two boys. David went to
the end and the cloth sash was handed from Tomohisa to David. Then Tomohisa almost fell
down. A member of his team caught his body. John opened his notebook and started writing

in it. Tomohisa, Yoshiki, and John were sitting down for a long time. Tomohisa said, “I ran

faster. I'm happy about ( )the result.” He drank some water and asked, “( : [ sent/yet/email /
(0) 7,

an/you/she | 2?7 “No, she hasn't,” Yoshiki said, “But I'm looking forward to getting an email

from her.” John checked his watch and said, “If she sends an email soon, that means David
has *set his new *record.” They heard a sound and Yoshiki’s smartphone showed Ms. Brown’s
email. It said, “David has set a new record for the fifth section.” John jumped up and said,
“I'm so happy about his record. I'll calculate his speed.” Yoshiki was happy because David did

his best and John became good at division.

GE)
arithmetic % division #| 0 & race L —2A
section [X hand FE7T clothsash 77 &
divide ... by ~ ... Z~TH# % distance [ calculate FIMET %
set 29 % record FuERk
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He said so because he wanted him to study arithmetic more.

(3] | (3) | 1I21ZED &I REEUDA B DDNEY) D, O S0,

as difficult as

7
4 more interesting than
7 different from

T

just like
(F4) [ write |0 LCGHEYIA LD EROES L,
writing

7

4 written
) write
T

wrote

(5] (5) W ED X I 7% 1 EEDBA DD, BRI 0,

know
tell

write

H & A N

calculate
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H 3 X\ Y

Ms. Brown believed that they would win.
David said his running time would be his best.
John could calculate his time.

Tomohisa ran faster than before.

(9 7) ( )[ sent / yet /email /an/you/she ] ? %, XIRIZEH L H I 1B --LT
7
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Why did Yoshiki teach boys and girls in an elementary school?

H 3 A N

Because Yoshiki was good at arithmetic and wanted to teach them.
Because Yoshiki knew John was David’s brother and wanted to help him.
Because Ms. Brown told Yoshiki to teach there in a school volunteer activity.

Because Ms. Brown wanted Yoshiki to be better at teaching arithmetic.

(9] ROHEMIIHTEHEZALLT, AXDNE LGS TV EHDZENL I,

Why could John answer arithmetic questions better than before?

H O A N

Because he kept calculating the speed of his brother’s running.
Because Yoshiki told him to take more time.
Because he knew about David’s efforts and got his advice.

Because David helped him with his homework.

(B110) AXLDOHNEBEEG>TVEHDEENE I 0,

\d

N

Ms. Brown did not come to the end of the fourth section on the day of £kiden.
Tomohisa heard about David’s record and decided to run as fast as David the
next time.

Yoshiki felt good because John finally enjoyed studying division.

David worried about his record because Tomohisa did not get to the end of

the section first.
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(3 D)

[Man] [(No.1)
(3 D)

Woman: May I help you?

Man: I want to buy a T-shirt, large size, for my son.
Woman: The ones with animal characters are popular.
Man: I want to see some of them.

(8 D)
[ Woman | Question. What will the woman do next?
(5 F D)
ML E3,]
(2 /)
((No.1) OV IEL)
(8 D)
[ Woman ] Question. What will the woman do next?

(10 D)



[Man] [(No.2)

(8 D)
Boy: Mom, Grandfather gave us twelve oranges.
Mom: I'm going to give five of them to my friend.
Boy: May I make orange juice?
Mom: Yes, you can use the other seven oranges.
(8 D’

[ Woman | Question. How many oranges does the mother want to use?
(5 D)

MR ET, ]

(2 Bol)

((No.2) O IKL)
(3 )

[ Woman | Question. How many oranges does the mother want to use?
(10 D[]

[ Woman ] (No.3)
(3 D)

Woman: Hello. This is A&B supermarket. How may I help you?
Man: 1think I left my points card there today.
Woman: s it our shop’s card?

Man: Yes. I used it on the second floor.
(8 D)
[Man] Question. Why is the man calling?

(5 Fhdft)

MR L%, ]

(2 Bold)

((No.3) O iIKL)

(3 Bfd)

[Man] Question. Why is the man calling?
(10 )



[ Woman | [(No.4]

(8 D)
Mother: Where have you been, Tom?
Son- I was giving water to flowers in the garden.
Mother: 1t’s already time for us to go.
Son- I know, Mom. T’ll be ready soon.
(8 D’
[ Man | Question. What was Tom doing?
(5 D)
iR LET, ]
(2 Fb D)
((No.4] DKL)
(8 Fb D)
[ Man | Question. What was Tom doing?
(10 D[]

[Man] [(No.5)

(3 B DI#H)
Father: Are you OK, Mary?
Girl: Dad, I'm just tired. I can’t walk now.
Father : Well, if you walk a little more, we can eat ice cream at a coffee shop.
Girl: I love ice cream! Let’s go.
(3 B DfH)

[ Woman | Question. Why did Mary decide to keep walking?
(5 F D)
MR ET, ]
(2 FPD/)
((No.5) DKL)
(8 D)

[ Woman ] Question. Why did Mary decide to keep walking?
(10 )

[ZTELEHEEKDY 3.
(5 D)
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(8 D)

[ Woman ] (No.1)
(3 D)

Man: Whose shoes are these?

(5 o)

iR LE9,J

(2 B )

((No.1) DOy L)
(10 B> oofd)

[Man] (No.2)
(3 D)

Woman:  Why don’t we have a party for him?

(5 B )

M LE3, ]

(2 B D)

((No.2) DO#ay L)
(10 B>oof)

[ Woman ] (No.3)
(3 D)

Man- When will the show start?

(5 o)

v LE4,]

(2 B D)

((No. 3) O#rVIKL)
(10 # D))



[ Man ] (No. 4]
(3 BhDfH))

Woman: How many carrots will we need to make this dish?

(5 D)

MR ET, ]

(2 FP /)

((No. 4] O#vIKL)
(10 )

[ Woman ] (No. 5]
(8 Fpo>fE])

Man- Do you have a plan for this weekend?

(5 ¥ DlH)

Mo LE9,]

(2 DR

([(No.5) DKL)

(10 B fH)
T THOEIC L AREZ KDY £9.]
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